. a1 [rn b
SECTION -1 | TR b
MATHLMATICS | ' P
| Yot 6 M. G au”
| ' - 7 10 A, dIgle g ~
A box rantains length 10 m, width & m andl . q?ﬂb[ ﬁgﬁ?ﬂﬁiﬂ § 45 €9 HeX SR
height 4 M. How many cubes of voume 15 cu.m Efy—é 4 F”‘ - a' il TR ¥ o
can accommuodete i the box ? qlef fddd 77 K {Fii 10 f s (7
{A).12 (B) 10 (A) 12 -
D
(c) 14 (0 16 (€) 14 (D) 16 .
| : G5 IREE S
¢ Points (0, 5), (5. 0) and (2, 2) form a triangle / 'F’R“rﬁ (0, 5), (5. 0) Ud (2. 2) X 4 ol
which is &
{A) Equilaterz| \B) None of these (A} qudTg
(€] Right angle (D} Isnsceles (B) =7 T s Tel
O ggepor < (D) WAEATE
de 1F {m 2l 18 a3 factor of equation 13 k 5 o w9 & ﬂ}'ff{ (m 2) Oald
e T k_then the value ok is ol s 1801 TIAETE & 7,
(€l 9 (D) & (€) g (P) 6
4 i a “!';;-[ .
Ore of the angle of a triangle s and t‘hr(ﬂ\ﬂfa? P &1 @ S 4 B N
1) e 10
other one is 667 , then the third angle in radian|  s6* % a7 ¥R FI07 & AW QT § 20
is (Al 5 & ®13 T8 (B] T
{A) None of these (B} f;i’f % ok
2 B fzo -
- T 1 R D)
o R (D)
x T 3 4
3 4
5. In the given diagram < POR =90 . Point Ois|5 feu @ fim & POR = 90 °, fa= O,
the centroid of APQR and PO =5 cm, QR = 12 APQR 1 Hed B 9T PQ = 5 q’]‘rﬁ QR
cm. The value of 0Q is = 12 99, ar 0Q F1 A= &
P P\ i L LS L{
vl %
3
Y \ 9 B =
Q R Q T R
(4), None of these (B) ] (A) o1 ¥ @I & (8) L
. 4 ¢m 4
3 3
(S 5 g2 (c) A4l (D) RS L]
3 =11 4 ¢m 5 l B
3 3 3 3
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" The value of - \C
| B el R 12 @ g€
G R ; e o ‘\/
i {'ﬂ'll' i B r
(A) 2 (8} 0 | /2 0 & v
(S D) il T W q6 ]
i) (D} None of these : Sl 1 (D) Ty 37 Wy el 6%)\
, ‘ \
% On rL‘UU ction CI notato [J‘HL i t"!r" 251” J person "L]"'CI' h o 2504 T Gl U¥ I\:[h m'f—:r? ‘?
purchase ?ﬁk:gr; of potato more in T 360, What 360 T “]_ fom e, gt e ¢
Is the actual price of per k; otato ¢
i : trjua nrice of ¢ rt;g 2f pro;rn i K‘L 3| ANERE T
nARARE (B} < 16/kg I8 44 {Hl T et
(€) T12/kg (D) None of these (€ ¥ 1o/ D) &y 9 ®IF =
& A shopkeeper offered a discount of T 32 on the |8 Ta HSI @I 3ife qew o 7 32 ge EEH
printed price of a watch and earned a profit of| g w TEMSN @I 16% @nT Bl § | g
asoos - 2 : = ey
1]{5;:, if the purchase price of the watch is ¥ 320. Thl B o 3 320 aroar gqf%}—f Tod W ﬂ
It he sell at printed pri what would he the Ny i = : %
ki ;3 a Jrfl.r;t.f price, what would bs the | 39 1) W GPreTE W 7 Speak | by
recentage profit : (A) g : B ’ s
3 T Cfﬂ"" el Bl 2':] Y i £%
(A) None of these (B) 20% (« " L“'/{D] LA R >
C} 5oz 30%
€) 25% D) 30%, - A o
{ ] 5 [u} { } 30;21 {C '.‘I i-.‘ba
< rie i
Lt - Bl G B i ) Ty -
s;y 73—l s 73" —snl: b
T}‘[E Ua]de Ui:- T G 3 -5 SEEss ""_;T ——:;Eﬁ]— -rﬂT{ g __'} -%-ﬂ___;
cO& 5% +c0s15° cos 73 +ensld L
(A7 (B) > (A) 3 (8, 2 b o
i h g = JHEF
(C] None of these (0} | (€} ':a'?{‘ 3 g Te (D) ]
10, [f cocec 8+ cot 8 =m, then the value of cos gis |10 afe cosec o+ cot 9= m, 99 Cos 8 @l
| q4 2 _
{A) None of these (8] ] (A} T 9 o T8 (8 3
m — | m -1
m’ + ] m- 4+ 1
& \ {D] 3 (Cl] . (D)
4 m +1 m 1 o+ I —}
) m” +1 | | i
|
| e
2 I ¢ xﬁt_g
—— 'TT \;f*:
I % 1 -E"" 4":.';"
1 ¥ ' (e
1033426
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1 The valte of

T2 Yo S o~
(A) 4 (B} &
() 12 D) 4
17 1 the

10% per yeer. At aresent the
13310, What was the

R @a}v/
/.7(11 y - iy g ¥ Sy /
e . £ Lt : @'fﬂ

@ A ©

I:ﬂ.'l 4 [E‘] 3]

(€ 12 B 3

Gty popalation 1y
population of ciy 3 Vears |

earliar ?
(A} 11 500 (B) Nore of thege
(€} 13,000 (D) 10,000

13 In what p
150 per kg and ¥ 200 per k
mixture to ¥ 165 per kg ?

Population of a city is INC &asing at rate of | 12

i
- r- R ;
rapartion we should mix the tea of {

£ to bring the price of ™'

K

afe fA TR @Y SERiEn 1% i af #
¥ W g9 W og s gt gd e #
SR feat ol Wl gdar SR
13310 & @l ?
(A} 11,500

€} 11000

(B] 3 ¥ Bl el
(C) 10,000
3 150 mie fmm AR 7 o200 U RET gt

g @ B ¥ fern S
Pemr &1 qou 7 465 ufy fer & wid 2

13

(Al 5.7 (8) 7.3 :
© 327 | MEar =I5l P § 7
o, (D) None of these < O s T ad T 5
4 |f .th.E‘ length of 3 perpendicular drawn from the | 14 ety FeC) oY wf&q T A T oI @l
origir on aFIir:-e s p and perpendicular i making THTS P AU I XA Y o -HI ATl £,
an angle a from the x-axis. The equation of this| T TH Y T o
line is iy T
LAl in o+ s og=
[.ﬁ]}(gina+y[05q:p (B) Ax+by+p=0 | o X SN bt+ Y COS b
_ X + + =
EE}xmse+yssnn:—-p[D]xcmu+~,eg|rm_p | (c) ° 4 D_
. x COs Y gin = [
®) x cos «+ y sin a= p
5 The radius of a circle is S2emanditis divided /13 T g & =eyr L | - I o
(/1% g 2
in two parls by a chord of 2 cm. The value of the | T oidl udm T4 g1 &1 Tl i faufse
angle of larger segment is 8, dl deavg & & H1 A 2 e
(A} 45 ° (B) Nane of these | {A) 45° (B] 9% ) ES\lé A8l - e
{c) 30° (D) 15 * ‘ (€ ap° (D) 15°
16 Five years earlicr Ram was three times older 16 5 g yd oy &l ;Y Y S D 3
Y 1 :
than Shyam. The age of Ram will twice the sge. T O Fom 40 aF 4@ W @) g g
of Shyam after 10 years. The present age of Ram| &I ang & 2 0 8t | w9 od wam <5
and Shyam is G SR , ,
(A) 30 years & 10 years B} 50 years & 20 years (A} 3p Hﬁ‘, 10 99 (B) 50 cm‘ 20 d%
(C) 35 years & 15 years {D) None of these (€) 35 g 15 qd @) g8 I wig F¢]
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"7 The factors of equation
5
| I = ‘-: \: R |
v ¥ |
v | i 7w g w3 |
) A \ |
(8) T T
ESBE LT o 0 L et ¥
v HY o -
(C} : ] ] < 1 ;
et il - =
1! X 3
(B) 1 t I
|
‘If ‘ = 20 x+ =2 |
- %" i B

18

If points (1, 2), (x, - 1] and {4, 5) are collinear,
then the value of x is
(A} -1

(€} 2

(B) -2
{D} 1

1 oy . .
st @ qopggug 3
-Ilq - \I‘..
(Al l | E
= | v =2 e s
3 V Y
“‘” 1 1 : !
R ||.1‘— ¥ 2k lx'—'—j
\ v 3
o ] (-
Al R CE T S Jl | e o -3 :-
' ! % i
{Dj [ il
\ lll _r—I—L:’ [\L]—?;,
i b : ¥

(%, -1) Ud (4, 5) WEy §

LN

s gfe fd=g (1, 2),

w& B T
(8]
-2

(D) 1

19 |f the average of seven consecubive even @Fﬁ d S SaaeEd F1 Ad 62 ,

numbers is 62, then the cne fourth of twice af
total of first and sixth numberis
(A) 61 (B} 62

{C) None of these {D) 60

20 sin(A+BJ.sin(A- B)isequalto

a) - A (B} . - g
s AEcos™B g A =8 B

-

(D)

-

{C) None of these .-
sin~A +cos™A

g @ UEfl R B Wl & UGd @
S @ AIS WET ©
RVl (B) &2
(€ 3/ & &g 7@ (0} 60

@sin (A + B). sin (A - B) @ HH 4ddY
F =

o
(A} .o - B wsn = am
sin-A=+cos B s A—-sin”B

(© g7 ¥ Bs Fa1 (D)

si-A+Ccos™A

21 The LCM and HCF of polynomial P(x) and |21. dg4< P(y) U4 Qly) & a0 T
Q(x) are  56(x* +x) and 4(_1*: ~x+1) ANl hHRE S6(x" +x) qd
respectively. If h thz{ }poj}ynumial At — x4 D%} | O P(x) = 8ix I

o o 1 ga then i |
Plal= 8l . S OLy) = ?
(A) . 4 (B) 5 \ |
(X~ — X v(x -x-1 A) : (B) : |

Sx(x”—x+1) =i : gx(x —x=+1) Ox(x” +x-1)
() . (D) None of these _

D C) . (D)

dx(x —x+1 { PR TAH I By e

_ Page: 5 103342




TNy

i
- . 1

A wire of diameter 10 mm is drawn by meltin
the sphers of radivs 9 cm. The length of wire

weird [ bie
{A) 38 88 cm {B) 77 76¢m |
(€] 38 88 m (B 27 A6 .

p{f‘\ uF ORI

E .
Lo o, 1 Byt

soid 2 .
&1 fgdr®d 10 f = &

T s =
T Afqr mar & | Mo @ s 9

A ar & ofrdrg gl
(Al 3888 .0

(C) 38.88 I

(8) 7776 L.
(o) 77.76 A

o f o a
U dd U bl g 5 He A A bdl ©

“3 Pipe no. 1 can fill the tank in 5 hours and pipe | #3 * 5 S A TE
no. 2 in 10 hours. Pipe no. 3 can drain the water qar T el 337 10 E[f_,1 ! :
: oy S o 7 Ee T dldl PY
snd make empty in 7 hours. If ol the three wafs dRwl Al <P Pl ~ 2
d - N
- ) A5 < @1 S '
pipcs arc open all together then the tme|  Irwar & | afg dF cﬁ ELd zﬂ% il
required for filling the tank complately would be a TE G '*T\F\f q uﬁ’Tf‘T fﬂuﬂrj_\ »
(A) 6 haurs (B) 16 hgurs LR A) g e (B) 16 <
(€] 10 hours (D) Noune of these (6o =< () T T P e
o o
24 In the group of 240 students, 200 apts fD/U o4 foemfeia & T‘j:g H 200 Qﬁ;ﬁﬁrl I;IH%
history and 90 opts for Geography. If 2077 en g0 WMl o & | AG 20 MFEE S o
students do not apt for ithstory as well as ¥ ¥ Hg ﬁm‘ﬁ_ o e ar fa 19
Geography, then how many students opt for| < Rwg odd & ?
both the subjects i.e. History and Geography M {8} 170
DELRS (€) 40 (0) T q BIg B
(A) 70 (8) 170
(©) 40 {D] None of these
25 A flag pole is fitted in the wall. The angle of |25 €l ¥ flog véd «oigvs & RN Ud 98
elevation of flag pole ends made by a person| @ 40 ¥, 4K TeH & @ AR WS D
standing an the ather side of a 40 m wide road | oIk gl 419 pI| EREEE! t{f‘[ﬂT
is 60° and 45° respectively. The length (height] FAM  60° UG 45° & | €A0EUS DI HAlg
of flag pole is (Hlfﬂ_g] 3
(&) None of these (B) 40{-/3 —T]m (A =p U BE aEl (8) -1{](--.,-'rf?~ —ﬂl)m
(C) 30m 0 40(3+1)m (€) 30 m ) o[ 3 =1)m
26 The equation of locus of points whose distance |28 I fa=gall &1 fdwg g &1 ufl&wo [SHE
from x-axis is n times of its cistance from y-axis. ¥-318] 4 '&éﬂ y-31et o qﬁ’q Bl N T% 24
(A} x = ny (B) Nane of these B
A o B " T e
(0 y+nx=0 (D) v = nx ) = iy Bl T A B R
{C}Y'!'HK:D [D]\fr:n:{
27 The equation of a line parallel tox-axis and|27. -3y & AN Yl ol x-a18 1 b %3
passing through a distance of b is U% ®, @ THOI0] §
(A} None of these (B) ¥=h (A) Q‘-_-Iﬁ pay ch!:rg ﬂ%ﬁ {M = b
(C) y=x (D) y=b @ vy = x D)y =p
/ | 2
—— +="" T ey
5 | © S|
e+ 39
I 4
ﬁ, 1 ¢
103




2 1f tae tolal of two numbers is 25 and its | ss afs €y weenal w1 AW o5 Td  SdT %
multiplication is 144, theo their difference s TR 144 & 7 [5 Gzaial @l i’ﬁ:__T‘r.'— \fla
[A) 4 {B} G DI ' \
G g IT/'L\J"H ? ?/J;
(c) ; (D) R (B) g o
29 There are six balls which rinps at the interval of ey I Ueh 12T Wldd: 0] 8:00 fiug dull |
2,4, 6, & 10 and 12 minutes. All the <ix hells /{ gfe 1 Wi 2, 4,.6, 8, 10 ud 2 fiFe &
%O rung together at 8:03 a.m. Find out the tme| =TT O eﬁf?ﬂ oAl e fepa-T A
b C/,. wnen they will ring e,g.,mntf_}“-ztf‘fer 1 bl (Ijrh ey deiifl 2 Y
;}a}{ (A) Nene of these (B} 1:00 p.m (Al 28 37 ®IE TEN (B) 4:00 49 €1RY
(C) 10:00 am (D) 11:00 a.m (€} 10:00 9 Ui D) 41:00 % W 4 s
™,
[l St a0 IR o5
I v =11, then the value of ‘ = 5 IIF‘}; k= Eﬂ v CAREIN! E:
BE L 11
(A] v (B) (Al ; (8) :
; k) A
I— :—}—-E I LN
RR T 5 L
(€) None of these D) 1 € 399 T o F8 (D) 1
31 In the diagram, AD is the tangent line of the | 3. frg ‘f{f, AD gd ol WI-vaEr 997 ABC ©ed
f:irf:fe and ABC is the secant line. If AB =4 ¢m & e e | ouafe AB = 4 ¥Hl 997 BC = 5
BC'= 5 cm, then the length of AD is 0, i A_) BT o1 8 e
s o
[ o -, A ; 3
- -*""7! f”/ \ <k B
g | | R ,
{‘-_'"“m | | / 74 .96 &
e - i E K{
) :H“‘“--u___‘_h
(Al 6 em (B} 7 cm (A & <1 (8) 7 TFTT
(€] 8 cm {D) None of these (€ g Irh (D) =99 ) B T
32. The least number by which either on|32 T8 ©E ¥ T T, e SINT 19404
multiplying or dividing the numhber 19404 will | & Trt:rn qr WM & W) g8 S gnT O 99
become complete square s iR
(A) 13 (B) None of these (A) 13 T X PIS &
{11 D} 7 (C) 41 (D) 7
g R 1033420
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3 Thevalue of v

i

iy
j’\

;"l.
7 b

i
Ad0°" 1207

MABC dare I:U 1}|

cquation of side AB of the triangle.

(Al %20 B
(C) x+2y=2

35 The points A, B, C, D on a circle are in such al Qq/{l_cﬁ qﬁ T\r CIEC B
way that they form a square ABCD. If the aroa of
circle is 3850 sag.m, then the area of sguare

wauld be

Wl

AN
(A) o
4250 'm-

() _ -
2340 m-

35. The value of

Y8 100

16 X 49
w6
7
ey 7
()

(D)

(B)
2430) n]

(D) None of these

(B) None aof these

".,J-J

& fs 0 0P 9
$Hﬂaﬂ 3%50 a7

oo

R : ; - =dir;
the given diggram is (Lé for= qo b1 HIT g5 ,
s )
I |
g
ﬁf?\
4 \’\ :
Aton AL
0 = B [ |
(8) 120" (A 60 (8] 120
J - o r ‘5_ :_ﬁr_-r
(D) Mone of Lthese €l go° : ) S TH og| _U\Eg el
— Tt
The co-ordinztes of angular point of a tria Ti(_r(paﬂ ﬁﬂi—r ABC ﬁ el AB m“i iﬁ;ﬁ;ﬁ
B(2, 0) and C{-1,-2). Find the Sl el 19 141<h [Ij]:a_[ ﬂu—: ¢ IHa?lld
Am 1), B(2, 0) Ud C 25
(B) x + 3y =1 (A -2y = 1 {Fﬂ y + 3y =1
{D))(-F\!r_—z : {E} X-{-E\rf:. {D] ;+\};__2

i wBCb a & | 99 @
£ 2 qr aif BT &Aml ®

L)
k. & . 100
J6 Y 49
B U &
(A) . 6
7
(c) 7
20

(Al 4250 ot #Y.
(€) 2540 g7 ¥

(8) 2450 T Al
(D) g I BIg el

Page: §
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aH

A0

41.

2. The purchase value of 4 items are equal

: =
1o - Bt T

the value R T T

ue of SESN . log |

R |5+ 5 = ‘

s |
(A2 (8) 0

() 1 (D) Nane of these |

A car driver cover the first 100 km at a speed of
50 kin/hour and other 120 km at 2 speed of 40
kmi/hour. If he moves with his average speed by |
which he travelled 220 km, then the time
requirad far further travelling of 242 km r’5|

(A) ] (B) |
o vy G hour
2 2
|
© 1 (D) None of thesc |
7. hour |

f the median of 59, 62, 65,%, % + 2, 72, 85 artdEu

94 is &9, then the value of X is .
(A} 63 (B) 68 |

() 67

Volume of a perpendicular circular cone A is,
thrice the volume of perpendicular circular rone
B The height of cone B is the thrice of height of
cone A. The ratio of radius of A ta radius of B s

(A) 3:1 (B) 3.2
ey 2 =1

Three non-zero number m, n, p wil be in
continued proportion, if

A ne of these (8) . |
(A None m" = np

{C] : 1&) I
- =mp =1

to sales

value of 3 items. The % profitis

A (B) |
A q_t;_l.% []..56
3z 9
c) 7 (D) | |
| 66 % 91—1’?’9
o) :

(0) Nane of these |

| TIPR WS B

(D) Pee I

orc Vel N g T AT R
11 M S T
it I e
(A) 2 (@l g

(D) g1 37 wIg sl

M UH BROVAR UEel 100 fEW w1 g3 50
[haeer &t urd 9 ST 2 dem ae 120
il 40 [Pl @) dief X ST € 1 99
TH Bt 220 TR AEn F ST RTE ATd ¥
DT FIRT 242 B W oG qw oaw dl
S feda wmg g 7

(A ] g I )
N 8]
2 2

¢ 1 % (D) 9% X BIE L
5

fafe siiael 59 62, 65, %, X + 2. 72, B5

“wd 94 F) MiTaT oy ©, AT x @ A ¥
(Al gg (8] &8

(C) g7 (D) ga® 3Y ®BT5 el

. TEH

o, gy i m, n, p [Gad e A
2, Tt

=1 I HE Aef (B .
(A) oo B T B -
{c) : (D) i

n- =1mp pi=tn

2 gfe 4 qeqal W BT T, 3 TRel B
" frmg e W AN Bl T AT A BT

(A} (B) 1
33 l 0 11 %

3 9
(C) ) (D) 1
66 % 9-—2¢

3 I
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44

&0

4B

]
ABCDEF s & vguilaterel hoxagon, 10y each side
i5 2, then AC 15 equal to |

[
-/ \
/ \ |
.'f \
{ 7 ‘
Y
)
\ - f/.'l
el I |
f‘i‘-— a4 o—
(A} None of these (B} 2 '
\{\ = o
o
C 7 ]
ll ; a {D] \[_ — .‘: 0l |

|
The area of twao sumilar tripr 1zles are U < q.m and (_\‘{\[

S

36 sg.m respectively. If the neight of one

triangle is 24 m, then the height of the other
one s |

(Al Nene of these B} 48 m

(€} S8 m (D} 38 m

In& ACD, 2 ABC = 9g° and AD is perpendicular
to C8, then the value of Al 15

,»":',I |
JI_I s
B} B 5 '
(A) o5 T
A «BO=<23c0n
(B) - o o
Al SRS 2RCED
(C) - W A -
AB- =BD- +2BC.CD

(0) None of these

There are 80% male emplayees in a factory, ?ﬂ%f\—n/’@_ﬁ B g0y

male emplayees are metric and rost graduate.
The total number of female cmployees are 600,
out of which 25% are moetric and rest graduate.

e ] )
" ABCDEFR Ud

4

- _ , | .
e 2 ]}_"ﬂ {[CI’JT Ui

JAHCHST By 5

T AC @l ﬁTrHE:f £

Wil g & | gardl s1s
i R
ff \\_
_f/ \x_‘
P i
F& B A I-t
N S
\\ f._____.- .-f_ld
Nt oy
h -l—__— o *
=
o AR i I B —
) 51-11\} T d}‘]$ "fE.ﬂ (&) Al = . 0
.'-dLl
{C) ] [DJ 'HL(_ — Fy
At
.. :‘I
S A

MY R 6 AW RATE g s
=% | gfe & Prg @7 :ﬁ’aré 24 7.

67

Al @®R F‘Iw ] S 8
(A) ?’—if{ J E5 TE (B 48 HL

(C) 58 o (D) 38 ¥l

(]

5 AGfa ALACD ﬁ', ZABC = 80® 3N AD oH

& CB W T ¢ & HE AR

NS
3 \B\

A

Y

D C
(A) ~ -
AB-+BC- -2BC-CD
(8) : e
AB-+BC- -2BC.CD
(c)
A =B RC-CD
0) g T P W
T50 ST & RSy

20 % ﬁﬁ'ﬁ q 9 71\:j§d %’ l Qﬂ% IT%_’CTF
AN 25% ARE g s AGUe Tep Tigedr

c{nLtﬂﬁ?T B 600 &, Al Bad] i D

The total number of graduate employees in the foraey 7 g9

factory are (A) ?TPDT ?T B A (B) 2430
A ' : B} 243

(A) None of these (B} 2430 (©) 2370 D) 5730
(€) 2370 (D) 2730

["agc: 1)
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| f : : then the  wvalue of

S . 2 B
Ive ~_ _ o Ud
= WY

e s B0 eyl

" A Hy

(A) ¢ (B) g1 3] w1d 18]
(A) QO {B) None of these © - (D) :? S
(€ (0) | " |
8 The larpest “rmmbf_‘r by which on dividing the l\i-_'\ dg a¢l U 4 viear, o) 1356 1868 Ud
mmwbers 1356, 1868, 2764, the remazinder is 12 2764 G NI N W ydEH T W A2 9N
izl cases : dd 3 .
(A) 70 (B) 63 (A} 70 (8] 68
(€) None of these (D) 64 (€} 599 9 B J¢f (D) gy
8 T,hf ends of a triangle are {4, 6), (2, 2) and {0, | +9. Tdh f}T]Ff & 90 (4, 6), (2, -2) U9 (0, 2)
2).The co-ordinate of its centroid is £ | Erq'“;; o ]Dﬁ:""Tl_ﬁ 2 | |
. 3 RS [ El kS <|I€ '
(A) (7, 1) (B} {2, 3) (A) (2, 1) 8l (2, 3)
(el 2.2 (D) (3, 2) € (2, 2) (D] (3, 2)
% IMA=1{1,3910,21},B={4,6,8 10}and ¢ = {1, | 50 > A= {1 3 9 10 213, B = {4, 6, 8
2,. 3,4,5,6,7, 8.9, 10! then the value of A (B 1[]} 319 -CL = 2 3.4 5 8. 7. B 8
C) s 10}, T An(BNC) & A9 2
(A} {2, 10} (B) {10} (A) {2 10} (8] {10}
(C] None of these (D) {8, 10} (€ g8 T ald 7 () {8, 10}
f

i

|
|
i
H
|
|
{

|

F
1
i

I

[ h
I e
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SECTION -1 '; a7 - 11
&
A g stone s kept in the Hoating boat. It the, o' diefld 8 oJ¥dl T4 4 RGERE Qeeld 2] e
stone 1s drappec v the wate- of pond trom the | rfy uee @ Al 5 'ﬁ JGAR dlelld |
boat, the leve of water i1 the pand i firer oo FIT, 37 qIATd H A I ol
(A) Decrease (go-dowr) (BY Nu change | (A) A g s (B) gl ST
(€) Increase (rise up) (D) None of these BN S e s (D) A A By TEl

If aforce Foan stop the moving body of rmass m =2 oHE m H AT ; cﬁﬁ ?B\T .

and jUEiDEIt‘-,’ U i a distance s, then the force dad & gl s _ﬁ :ﬁ
required  for stooping booy of twice 148, THT &l E\I QA Aeldl FE CF&I }A’

moving with half velocity in the same distance ITR & TET q Jee & v angegs g0 2
would be '

i (A) F Bl 2 F
MNE (8) 2 F

{ A5, ¥ { ]
. el Bl ¢ | e - g A

',.r

At

An obect start moving from standstil, If the 53 TF s femrmrgwen I TAT ARP I J%:
L&

acceleration is 10131 <5, then the distance | gfe @R 10 Hif g, ar 10d WS
travelled by the object in 10th second is fovg g defl 31 @ -

(A} 250 m {B) 95 m (Al 250 T (B) g5 L.

(C) 4050 m (D) 5000 m (€l 4050 1. - (B} 5000 .

The time period of seconds pendulum on al 54 Uh UDvs Alelds &I W T8 U O‘\IH\JHU[
T wE Peedld WRU E A Gedl @l

planet where gravitation acreleration if;1 of |

o | e (1)% | g8 Sl @ radETd 7
gravitational acceleration of earth | 0]
(A) 9 seconds |B) l ; (A 9 THTS 8] ] ’
g seeond 9
(€ ] (D] 6 seconds (0.1 d@mvs D) § THIS
second ¥
_’% ¥
|
|
Page: 12




5%

56 There is a difference of 25 g in the temperature

57 A weight of 150 kg is hanged at distance of 60

53

54

60,

on

The resultant of twao forces Poang 1 miakes an ‘ o

o |
s

ongle  of 90 fram  the  force 17, and
|
magnitude is equal to magnitude af 12, The|
magnitude of P, i<
(A) P [B) P
T
(€} Nane of these (D) Zera

of two bodies. It's value in celeius scale would
e

10 °C |

(A) 20 o (B)
(€ 3p°C {0) Naone of these

cm from one end of 1.5 m long pole. If both the
cnds of pole are rested on the shoulder of two
persen, then the weight lifted by both the
persons are

(A) 100 and 50 kg

(C) 75 kg each

(B) 60 and 90 kg
{D) 30 and 120 kg

1 kilowatt-hour is equal to

A O HP {B} £
(A) 1.0 36107 Joule

(C) 3600 Joule {D] Nane of these

Main scale of a micrascope is divided in the
parts of 0.5 mm. If 50 parts of Vernier's scale
match with the 49 parts of main scale, the least
count of its is
{A) 0.002 cm

(C] 0.05cm

(B} 0.001 cm
(D} 0.005cm

If the force is increase four times and surface
area is decreased to half, then the ratio of final
pressure to initial pressure would be
(A} 2:1 (B) 1:2

(€] 1:8 (D) 8:1

(8 1 {Felare-guer &1 ME

A ad D aen w1 uRoed PoRT 900 WE
denn gl uafEm Py wmEr & oL P

yfReror ¢
{~) P

]
—

A B e (D)

(B}

b

(€l o KR

B T g b oad A ggep BT AN B

Aferry e g8 Tg a=m 2l
J4) 20 °C (8 40 >

i~
e

(C) 30 °C (D) _’{*‘P\ q 7?)\@ el

on

W T Uk @ S UH RR U 60

{ﬁ Y 150 TR BT UR dACHIUT T
) ww & e R anel®a % dul W
e 2 | < syl gm o Tar vR
B

12} 100 Tg s0 f&.m.
(B) g0 Uq 90 R,
{© 75 {51, Tad®
(D) 30 Td 4120 fohw.am,

T

]

DA

P "
]

5
o

B
b3 6% 108
O) g & B3 T

— (A} 1.0 HP { Ve

(C) 3600 Ve

50. U ARGl &l R 9OHl B 0.5 Al &
ar # fdvad frar war € 1 afae =/

& 50 W G AU d 49 WO & WA
fiferd € | 9O @ s ©
(A) 0.002 HHI. (B) 0.001 T,

(€ 9.05 Wit {B) 0.005 4.

60. (¢ dd DI 9R A TA Td & SFBA D
g HR O WY, @1 gRem @ 9
RS S BT TG S
M 200 (B) 1

{€) 1 : 8 (D) 8

. 2
£




61 In S| systemr Newtor-second is unit of kga \eeg ,ﬂé gefd A <Jc- (bvs gdbly b

(&) Momentum (B} Impulse of farce (A A (Bl gl bl ST
(€} Momentum & Impuise of farce Y idn ¢ dol @1 SdT
(D) None of these | { (D) T W B Tl

An electric motor create a tension of 4500 62 W&ﬁ # HeR UH aorl IO 7 B
Newton in a cable on lifting a certain weight and | 1‘1 4500 YT BT TG SOA DA ® AR
wrapped at a rate of 2 m/s. The power of moter EﬁT 2 ﬁ[_ T T T Juedt & 1 AT @

bs

i %
(A) 15 kilowatt (B) 225 kilowatt (A) 15 fdefldre (B) 225 fHcIdTC
(€} 9000 kilowatt (D) 9 kilowatt () gooo fhellaie  (P) 9 [Hefldie

: i
The pressure measurec by barometer at 0°C is|13. ¢ *C &0 @ dER gk AW AT T
760 mm. The same pressure at 100 °C would be | 760 frdt & 1100 °C @9 W T &1 HIA

63

(Al 760 mm B |
N (B} 730 mm LB
() 780 mm (D) None of these (Al 760 A9, (8) 730 frHl
(© 780 A 0) g T B T
> Momentum of two bodies are equal, If the mass C a’] I3l @ Gan A € ufe 333?
of hodies are ml M and kinetic energies are ZEHAm .m E}T SR I IGE] %W '
k.. k. respecti o ] "*"\ﬂqrrk“g‘ﬁﬂ
1+~ - respectively, then the ratio k_ wou d be ! K.k IR L 1\— -
L

(A} m, B, (Al . ®/

1, HLhS | my s
(C) 211]: (D) 311]3 (c) 20 ) 11]’1]

- o T .
n, g m, ks

65 The thermal capacity of a body of mass 100 gms |85 afg f&=fl 4] &1 T 100 WH T

and specific heat 0.11 calorie/g °Cis | fa¥re S 0.1 %Cﬁﬁf-up:nc T SIS
() None of these (B} 110 calorie/ =¢ S Hﬁ?ﬁﬂ 3
(C) 11 calorie (D] 16 calorie/ =c A) 598 O @15 TET Bl 110 FAe

(©)) 41 BN (P} 16 HAR/

66 It error in measuring the radius of a sphere is|% Tt & oy & A9 A e 1% &
1%, then the errar in calculating the volume of S JAMTA B T H @PC' 2rf

sphere would be (&) 39 (B] 59
(A) 3% () 5% — ) 1o
() 7% (D) 1% <




i

59

70

71

Ao loree e applied for 20 seconds o

moving body of 5

Bns, there is no forge |
thireaftor. Hm]-; stopped  after 5 coconds
moving o distance of 50 ¢m. The value of force

In MNewton is

(A) _ ; (B)
EhE e I BT &
(€ . ~. (D) |
2% J4) S 1) |
|
If o rigid body s travelling  distance iy | o

proportional to the square of time, then the
acceleration of this naid body is
(A} constant (B} Decreasing
(€) Increasing (D) Zero
A studert reacked his schaool by mowv ng first 1
ki to cast, then 2 km to south and finally 4 km

to west. The direct distance of his school from
bis hotse s

(A) 1~ /o k111 B} 8 km
€ 3.0 ©) 10wm |

If the angie betwsen two plane mirrar is 60°
then the number of images made of an nujn“'
situated in between the mirrors '

(A} None of these (B} 9
(C} 5 (D) 7

Which is not the unit of energy ?
(A) Megawald (B} Newlon-metre

(Cl Kilowatt-hour (D) Joule

& I | B2

i

-
o

7

5 WH oM & v (favm
VB del 20 30 % fyo
e 3 A T cial e i A

A9 q) U9
AR ¥, RRTE g4
GIRIT (T 5 X R

50 M. W T 4B T e | ad
BT T 9 R
{A) _ i (B)
EIN T 2 T O
(C) . : “}:l ~ g
IR Fo= 10

vl fvg wwm & @t % ST
T_'?H _TT T TR, W g _FTI' Fore i
Em ﬁ'ZTrT to ABl w2

¢ dag g | (D) w1

——

UF el e WU Ted 1 fwl gd @
R, fh 3 faf < ff‘:m Bl 3T TAT 3 H
4 B, 439w SN deey e P
Tgddl ¥ | WU RAwred @) uY W R0
=

(B} 5 1y \/8 fem 7.

{C) 3: fEh.HT. (D) 1” ﬁ'(_rfr

- i T fvaa el s cﬂﬂ BT U 60

al \;Hrp fla Gt At 6 & gfafard] @1 ;\’_'_'E'JT
&l

(Al g3 @ w1y @l (B g

Q) 5 (D) 7

Holl &1 JiFs A8 ¢

(Al Hifiare BT wyeA-Hree
ﬁ‘ﬁeffcﬂif-ﬂ'ﬂ

) B!

14
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i

azl aﬂ;ﬂ:ﬁ ”]:HEH ]?]:.w @ﬂ a’ﬂ g_\ﬁ r

" Two bodies of masses 111] .M. at the distance of
rexert a gravitational farce F on each other. The T & dr= JIH dTedT HRTCEIT?W del F
(oM GOm .1 . , 3 el G
Fois defined as| = 2 where G is 3 U4 1= o § eur Sl &,
I e
constant. The value of G depends upon v e B, G P A REMEDCI
(A} On the urut system (Al ArF® ggiv W)
(B) Not depends on the unit system and 8) mEd e H?ﬂ o oTATAT b fra &
Medium between the masses (bodies) e SFEl W8]
(€] Medium between the masses (bodies) (€] garyAl & 49 & WEgq W
v .
(D) On the unit system and Medium between ! iBJ/’ A= q@ﬁf SE2I mﬁ & 4 @
fhe masses (bodies) both | qeE oAl W®
73 A motar cycle is moving with an acceleration of | 73. U HizTgihd &1 @0 8 Al 21 g
Sm g7 If we touch-on 3 same type of non-| 5 4ot & wwq AexATsivd T GV
moving  motorcycle  with  it,  thea  the qre G—? HBE T?{'Em R ) “,
acceleration will be (A) g8 3 By a8l (B) 2 ﬁh’—;*-
(A) None of these (8) '
2msT (€} 4 ?U:: (D) g #Hij=-
£ : o .
(€] dmosT (c) S ST
7 Two objects are dropped together from the |74 &1 ¥Uh df,&diEgdl & Uhp Wk YIS
height h, and .. The ratio of time taken by o : “ - .
S g 4 St £ | ST Al W® 9gEd d o EE)
them to reach the sarth is B I
; B
(A} h (B) h, Al h, 1% h
4 h. h, T b
|J = L5 .r ! -
(C) h. (D) fj;hf {) h {D) s
I, W, h i hy
75 The unit of work in CGS is 5. BT T G G 2
(A) Horse Power (B) Newton-metre {A) g9 diqw (B) =rcafiey
(¢) Erg (D) Joule (€} 3t \%f” el
P&gﬁ: 16

103
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&1

SECTION = 1I

CHEMISTRY
Rate of diffusion of i gas
(A) Valoney

depends an
(B} Snecific heat

(C} Atomicity (D} Molecular weight

Potassium Ferrocyanide h g ol Y 1”? type |

|
of salt :

(A} Double galt

(C) Simple salt

(B} Complex salt

(D) Acidic salt

The l[-]{‘]tm;of a solution is obtained by

dissalving 5.85 g of NaCl in water. The molarity |
of solution would he
(A} 2 molar (B) 0.5 molar

(€} 4 molar {D) 1 malar

Twa alpha narticles are emitted
element whose mass number is 226 and atomic
number 88. What would be the mass number
and atomic rumber of the element obhzained
afler emission ?

(A) 214, 82
(C) 218, 84

(B) 218, 80
(D) 218, B2

1§ the electronic distribution of Xis 2, 8, 3 and ¥
s 2, 6, then the formula of
formed is

(Al XY (B) oy

the compound

€ xN v (B) %

The temperature at which the vapour pressure
of liquid becomes equal to atmospheric
pressure is called \
(&) Critical temperature (B} iMelling point

(€] Boiling point D] Freezing point

fram ani7

H = III
WRIRGT 2

fEelt o & famr 48 e Pl sl &
(4] qrmwm. A Ey B faf3re o 0w
(€] gEufEREAT T (DY 3o 9

CURRE SRR []\‘ b }fﬁ

UGR &l ofdi 2 7
(A m o a] (B] ITHY o dT
(€)= oan Jﬂ{ ArAT AT

100 24" AR, ™R 5.85 T NaCl i

el W OHlTEY W AT T, @l AT

BRIl

(A} 2 molar (B} 0.5 molar

(€l 4 molar D) 1 molar

226 URAMN] MR TAT 88 URHAN] HHE did

Uh o 3 [f[ Fgeml &0 fFda & dig
I g @ THHA YT J91 TRAT]
HAG FI B ?

(Al 214, 82 (B] 218, 80

Y 218, 82

(€l 218, 84

| e 5 ﬂzm A 47 ANe 1 @ ©
. % F (0
@ Ny ) X

i-ﬁW“Twa?[ SIS BN LR IRAA G

% AXER B W ¥, SN O B hed o
(AL-mTf<Ts T 8 IS

(C} R (D) feris

I

See—esrry
TS
i

o T ]
:f ; 4 i
i E A
Al LR
ll‘]
SNl pd KR
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52 In a spedlic condition following reaclion takes |« e ol 37 Peiyfiar aifsfyar arch &
place. v this fi.‘cBEli[JI"l.’:_"[_fI_,II{_:I]H dprenlis | o7 d'”* 5},{]’] r'{ AT G r]'fq]-qj’ }'
NS - f.'.":il_'h—* (0 ";l-" | I I .-"\{_5_:|——-‘v e
14 5 (B} None of these &) g (B} A % 'Efﬂj B!
o S ' ‘ B
<k 2 (o) Sl?nc1(~l_::t}[:1}1 (<l ¢ (D) S T‘I(';’_‘*\Fh
53 The ntf}mf'i :1U'_TI!JL?I' of sulphur 1s 16 and mass | 3 AT Ui {J;‘-H”[ HHIE 16 X T IHI
number 32 The number of electrons and 32 ¥ 1 ¢i- W SowEEl T weE B 1
protonsin g9 s )
(A) - F
A 16, 16 ' 1 -
o .16 (B} 18, 18 | A58T6 16 (8) 18, 18
8,16 (D) 14, 16 (@ 18 16 AD) 14, 16
& On evaporation of 2.77 g of saturated solution | g/ R TT S (e T ) T 7 qwm el & 2. ?? TT w
of a substance, we obtained 072 g of qraT T 0.72 rrﬁ{ ety gr gl v |
precipitate. The salybi ity of substance meH el (a3l
be 47 35 B 9
{A) 36 (B) g
(] & (D) 18
85 Most probable velocity of & gas is defined as es. A1 W Ffeay wifima 9T uEfd S E
(A) None of these ®) 3R] s
| ! " 5 , . =
e LAz v e @ B 3R
II : x - I
- v
€@  2RT (1) 'E’I
i & o D) IR
A M o 2RT R
M M
86 The full name of B.H.C is B6. B.H.C. T T{Lﬂ QIR
(A} Benzene Hydrogen Carhaonate 5 (A) 519 g_|b¢;: T T
(B) Benzene Hydrochloride ’ B e E.|:§gg;dﬂi{[55
(Cl Benzene Hexachloride (€ Ui TS
(D) Benzene Hydroxy Carbonate (O} 45T TTEg Rl BIde
87. In a semple aof hard water, 0.024 gm por it of |87 7afe waly 9o & Uh T{'Iﬂﬁ q0.024 TTH
- - ; - : T Eﬁ’?[ C"ﬂ('_].‘{ o | k! -_i B
AMeSQO,and 0.162 g/lit of [_‘;1[}}{{) | is MgSO, T 0462 WH HIW &
dissolved. The hardness of water would be [I LO ) Al & = 1 H
{Gh-cﬂ;MU}\&-},@'M;SQ 120.CallICO, J_~ -l(}EJ " IR
(A) 120 ppm (8) 20 ppm {Gn'uﬂ MOIWEor MeSO, = 12('1.(.':1{}-1('.'(:]; ::i: = 1&21
(€} 100 ppm (B) 12 ppm (A) 120 ppm (8] 20 ppm
(€} 100 ppm (P} 12 ppm
Page: 18 10




se The clectricity requirzd for the precipitation of

£

0.01 gm cquivalent of 4 ™ jons would be

(AY 1001 {B) 0.7 4
Bb*:f (€) 0011 (D) 10 ¢
el
4 g9 Which cquation is  2a'anced among  the
following :
b [A) peme s
“ GBI 1217 =38 "
b
5 s s 5 ;
P bt k. SREE
Ay - -
L e e
i L ?i%lij: 1L X »
E .
! S E = ZNInl)
E‘ S _
!i S, 5 20 Y ST
l BT - THL0- MO
2 Y T .
JBiOT 41 =Nt
g | ;
2B < 6H O-3Nn0O-
¢ 90 A temperature above which a gas cannot

e e

liqucfied is called
(A) liguefaction temperature

(B} Boiling point

(€] Freezing point (D) Critical temperature

91 An inorganic compound contains Ca = 40%, C =
12%, O = 4B%. The empirical tarmula of this
compound is

“ ca.co, .

CaCO |

(C) Cacd ':D] ClCO

e2. Atomic number of carbon is 6. 1T's group in the
periodic table is
(A} [

(€1 v

(B} IV
(D] 11l

=

i

0.01 T {&IMH 4 ,~ 0T @7

BEiRGEGTE

b ofory fhadl Rega &) wnagaaag Af 9w
(A} 1.0 | (1

€ 001 F B) 10 F

(91 17 A dla 1wl wdfeg & 2
U
13O 1200

- ;h]ll;_- 3

B 60 O

SAN0

JF(EBHﬂ*]4H'~EHn* )

3BT+ THL 0~ 2Mn0]

cy . :
A0 2217 5 Ninm o
3BT+ THL O - MnQ
11—
2310 41 + Mn >

2Bi7 « 6H 0+ 3Mn0”

0. 9 919 TR SR o [ @1 sfag 98

fopar S YTed1, wEdaEr 2
{Al odiavor amg J.B}"'?%Tﬁ B3

(€ fisiep D) s T

1. U Ipldia AWlfs 9l ufoed 39w 4 Cg

= 40%, C = 12% O = 48% ¥ | 3¢ AMTa
I AR Y= @

AL Bl .

) Ca,CO; ECaco .

(© CaCo

®) caco,

2. BT B WA HHD 6 T T add TRl

H g6l ITE ®
A T1 (8] v

(A1 D) 111

5_
i
i

i

|

et
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“4 Inwhich compound covalenl bond exist amuong |
the following ? |
(Al Magnesium chlprice (},13;(_'3‘:_} ‘
(B) Sodium ehloride (NaCl)
(€ Calzium Oxide {Ca0)
D) Ethane (o1l )

Fquivalent weight of sulnhuric acid i [Atomic
welghitif=1. 5= 30 e 16]
(A) 49 (B) 93

(€) 80 (b] 39

The ph value of _I HCi solution s

1000
(A) g (B8) 7
(€] +13 {D}) + 5
% The oxidation number ef Sulphur in sulphuric
acid II:E‘J(_), i5
(A) 7 (B) 5
(€] G {D] 4
av

)
If radium remains i of its initzal guantity in
i

3180 years, then its half life is
(A} 1650 vears (B) 1580 years
(€) 1730 years (D) 1400 years

¥ The electronic distribution of Mn(25]) is
(A) 2,8, 14,1 (8) 2,8 13,2

(€] 2,8,8 7 (B) 2,8, 10,5

29 The farmula of water 8as s
Acoen. Bl €o, 411,
) H.O(Vapour) () CAMG
109. The percentage by weight of metal available or

the earth is maximum for
{A) Sj

() Al

(B} Fe
(D] O

-
':_l'

) ] z - e B f
% far WRw q YERIHS T FIRAT T2
(A} Fidifzrun wilNigs (Mgl )
(8] e deiigs (Nall)
AT dfanm iwnss (Ca0)
T (o)
|
¥ YER[RE R BT eIl MR ® [URAN]
YREH = 1, S = 32, O = 16]
b 19 (8] 9g
() 80 (b 39
'H_HCIWHUHEFQH HIT €1
1000
. &) _
(€] +3 (D) 45

ATRITEoT Teay &

(A) 7
e g

(B) 5
{D) 4

{

b

7

fe ﬁ%aﬁ:ﬁﬁﬂqﬁfﬁ'mqﬁ'um@mﬁ'maT
# ! <z s 8, W9 THPT ard-amy @

4
Hﬁﬁ/1550 e

(Al 1650 ot
(€) 1730 ad (D) 1400 4%

* Mn(25) & 3P R @
P2, 8, 14, 1 B) 2, 8 13 2

S 2 8, 8, 7 ) 2,8 10, 5

ST W BT I Y

S eoay. (8)

CO, — 11,

L0

100 gazfy NOORE W el RISt ot

ST I ST o 2 B
S

(C)

HO (quy  (p)

)

Bl Fe
S i e
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